SEhNHERGMIZEEZZFELEHEIZLT,
FHEFEMAEITBEX15H. 2B BIX2%. SBEH (X451, 4B B(E8KIELTIM AR
BIHDED KR ZLIZSWIEBLE T, FFEREITENT S

B# R
1 1
2 2
3 4
4 8
5 16
6 32 [12= 4380
7 54 &00,000,000.00
g 128
9 256
10 512 200,000,000.00
11 1024
12 2 048 EF IR G0, 45)
13 4096 400,000,000.00
14 8192 g
15 16,384 *
16 32 768 ﬁ 300,000,000.00
17 65,536 5
18] 131.072|3ke= 130,008
19 262144 200,000,000.00
20| moaces
21l 10485761 - 100,000,000.00
22| 2.007.152 16 =2 600,000k
23] 4194304 J
24| 8388608 0.00
5] 16,777,216
O6| 33554437 0 5 10 15 20 25 30 35
27| 67108564 HE
28] 134217728
29| 268435 456
30] 536,870,912 2006 = 5200000008




DY 4/a0%x3miR->THE-BZBHICIHERXTIHTDEHEIES
@FDIMOMFEZE 2B ARFET , 23545235235 TF , 7TCE|>=RYMNTVFT—
j_pl {_—Gj—o

QZvF—FN—CLRILMBD 1 BFEALZITENET .

@S mEIL1, 000H

Q COHF—LIZSIMLETHI?

256256 = 256 X 1001
= 256 xX143x7

374374 = 374 X 1001
= 374 X143 X7



2020D4DDHFFH>THRAELR/IMEDEZTKD S
2200—0022=2178 CDmANELH/MEDEZKDH D
8721—1278=7443 ZDmANELTH/MEDEZKDH S

7443 —3447 =3996
9963 —3699 =6264
6642 —2466 =4176
7641—1467 =6174
7641—1467 =6174

CHORKNELF/MEDEEKRDS
CHORKNELF/MEDEEKRDS
CHORKNELZF/MEDEEKRDS
CHORKNELEFZF/MEDEEKRDS
hTLhE

HTLH#
34T > 495
AT > 6174
5# > 7@l

6HT - 54994, 631764



xDERESZEKDHEL, 2BYBHYFET
C [k 11MEERVS

X AB:DA=CB:AC

5 D 4: x =5:3

3| x 3| « X :%

[f#:£2]miEZ LS

4% 3 X 1=5x x X =
2 2

_12

5

4
X S




EATSXD G
AFABO#FELEET
20209815 CHNIL. 240 +2+0+9+1+5=19
14+9=10 7O TEE+IBE=mMELE

LI 2.4 3. B 4.F&K 5:#1% 6. BLEM
7:FE S ABLEE 9:EMELERD 10:fHEELH

2+3=5 SXE+BEMHE=FHFE
2X3=6 STUExBHE=E=E
445=9 SIEHE+FIE= EE =%5TY



